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Figure S1. The R;,;, profile of antioxidant 8 using NAC as co-antioxidant at pH 1-7
(HCI/NaOH regulated).

RM (min)

Figure S2. The T}, profile of antioxidant 8 using NAC as co-antioxidant at pH 1-7
(HCI/NaOH regulated).




Figure S3. The R, profile of antioxidant 9 using NAC as co-antioxidant at pH 1-7
(HCI/NaOH regulated)

Figure S4. The T, profile of antioxidant 9 using NAC as co-antioxidant at pH 1-7
(HCI/NaOH regulated).




Figure S5. Control experiment without antioxidants (8 and 9) using NAC
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Figure S6. Control experiment without antioxidants (8 and 9) using GSH
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Figure S7. Control experiment without antioxidants (8 and 9) using DTT
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Figure S8. Control experiment without antioxidants (8 and 9) using AscOH
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Figure S9. Control experiment without antioxidants (8 and 9) using sodium ascorbate
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Figure S10. Control experiment without antioxidants (8 and 9) using K4[Fe(CN)¢].3H,0O
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Figure S11. Control experiment without antioxidants (8 and 9) using K4[Fe(CN)4].3H,0 +
PTC
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Figure S12. Control experiment without antioxidants (8 and 9) using Na,S,05
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Figure S13. Control experiment without antioxidants (8 and 9) using Na,S,05 + PTC
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Figure S14. Control experiment without antioxidants (8 and 9) using TCEP
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Figure S15. Experiment with antioxidant 8 using GSH

- 3000 -
2
th'h 2500 -
=,
£ S2000 -
o =
& 21500 -
c o = 2.06x-350.55
S 51000 - o Y
E =] y—O.ESBX"' 132.7 R2=0_87
€ 500 - R?=0.121
3 Leitsbitsissotistisbisissiie lmm—— WY
0 - T T T T T T T ]
0 50 100 150 200 250 300 350 400
Time (min)
Rinn=3.96 pM/min T, = 243 min
5000 -
% 4500 -
o 4000 -
E 3500 -
£ 5000 |
=
8 §w0 2
5 2000 -
£ 1500 - y = 6.51x- 1569.12
'g y =0.046x + 148 R%2=0.98
£ 1000 - R? = 0.090
S 500 - ....-l.'.
0 T T T T T T T T 1
0 50 100 150 200 250 300 350 400
Time (min)
Rinh = 2.76 uM/min Tinh = 265 Min
5000 -
[- 4]
_g 4500 -
O
= 4000 -
2 3500 -
S 3000
s %500 .
‘5 2000 - y =6.51x-1355.31
& 1500~ y = 0.218x + 85.56 R*=0.98
E 1000 - R2=0.238
5 500 -
= 6 — — =
0 50 100 150 200 250 300 350 400
Time (Min)

Rinh =2.8 uM/min Tinh =265 Min

S10




Figure S16. Experiment with antioxidant 8 using DTT
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Figure S17. Experiment with antioxidant 8 using AscOH
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Figure S18. Experiment with antioxidant 8 using sodium ascorbate
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Figure S1

9. Experiment with antioxidant 8 using K4[Fe(CN)¢].3H,0
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Figure S20. Experiment with antioxidant 8 using K4[Fe(CN)4].3H,0 + PTC

5000
4500
4000
3500
3000
2500
2000
1500
1000

Formation Of Conjugated Diene (1uM)

500

y =8.3828x+32.01
R?=0.9951

0 50 100 150 200 250 300 350
Time (Min)

400

Rinn =503

pM/min

S13




Figure S21. Experiment with antioxidant 8 using PCET

1000 -
900 -
800 -
700 -
‘2‘1600-
= 500 -
400 -

300 -
| y =0.0414x+66.116
i R?=0.1323

1090000209040 9000080409o ¢ +
0

Formation Of Conjugated Diene

0 50 100 150 200 250
Time (Min)

300

Rinh =2.46 uM/min Tmh > 360 Min

1000 -
900 -
800 -
700 -
600 -
500 -
400 -

300 -
y =0.0313x+79.678

200 R? = 0.0989

Formation Of Conjugated Diene
(um)

100%.._&%0“9’949“—0—0—0
0

0 50 100 150 250 300 350

Time f&?n)

400

Rinh =1.88 uM/min Tinh > 360 Min

1000 -
9500 |
200 -
700
600 -

Ss500 -

=

=a00 -

300 -
=0. +93.
200 - y =0.0401x+93.147

2= 0.1008
100
0

Formation Of Conjugated Diene

0 50 100 150 200 250 300 350
Time (Min)

400

Rinh =24 uM/min Tinh > 360 Min

S14




Figure S22. Experiment with antioxidant 8 using NAC pH =1
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Figure S23. Experiment with antioxidant 8 using NAC pH =2
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Figure S24. Experiment with antioxidant 8 using NAC pH =3
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Figure S25. Experiment with antioxidant 8 using NAC pH =4
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Figure S26. Experiment with antioxidant 8 using NAC pH =5
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Figure S27. Experiment with antioxidant 8 using NAC pH = 6
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Figure S28. Experiment with antioxidant 8 using NAC pH =7

= 3000 -
3
2
2 2500 -
o
(=]
o
2 2000 -
(1]
-]
=i
§ 1500 -
5 y = 6.00x + 69.39
2
§ 1000 |  y=1.8247x+167.4 A
'E’ R?=0.9244
6 500 -| -—’.—'—“——___——‘——.'_‘i".
w
o —¢ —¢
0 T T T T 1
0 20 40 60 80 100
Time (Min)
Riyn=109.5 pM/Min  T;,, =57 Min
3000 -
s
2 2500 -
1]
c
o
0 2000 -
o
2
m©
o
2, 1500 -
5
© y =6.09x+107.82
5] ) R?=0.91
c 1000 y = 1.8362x + 153.56
i R?=0.6955
E 500 P——.‘EP/J’-.
o
L
4}____*___0____’
0 T T T T T T T T ]
0 10 20 30 40 50 60 70 80 90
Time (Min)

Rinn=110.2 pM/Min  Tiyp = 61 Min

521




Figure S29. Experiment with antioxidant 9 using Ascorbic Acid
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Figure S30. Experiment with antioxidant 9 using DTT
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Figure S31. Experiment with antioxidant 9 using NAC
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Figure S32. Experiment with antioxidant 9 using K4Fe(CNj).4H,0
2000 -
=
y
& 1500 -
-E| ]
=
sg
5 §ow
=
2 8 y = 0.6203x+ 70.441 y = 8.45x - 560.68
2 500 R? = 0.3754 ./".,_I
£ ¢
0 ? T ’ T T T T T 1
0 20 40 60ime (Minf? 100 120 140
Riph =37.2 pM/min Ty, = 80.602 Min
2000
.
U
-
E HIECD .
=
3%
- 91000 -
¥
;E o y = 0.4949x + 66.408 y=836x-582.89
E 300 - R = 02642
IE MJ
D | I | | | | | |
0 20 140

50 Time (Vif) 80 100 120

Rinh = 29.64 pM/min

Tinn = 82.54 Min

S25




Figure S33. Experiment with antioxidant 9 using PTCP
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Figure S34. Experiment with antioxidant 9 using Sodium Ascorbate
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Figure S35. Experiment with antioxidant 9 using K4[Fe(CN)¢].3H,0 + PTC
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Figure S36.

Experiment with antioxidant 9 using GSH
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Figure S37. Experiment with antioxidant 9 using NAC pH 1
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Figure S38. Experiment with antioxidant 9 using NAC pH 2
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Figure S39. Experiment with antioxidant 9 using NAC pH 3
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Figure S40. Experiment with antioxidant 9 using NAC pH 4
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Figure S41. Experiment with antioxidant 9 using NAC pH 5
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Figure S42. Experiment with antioxidant 9 using NAC pH 6
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Figure S43. Experiment with antioxidant 9 using NAC pH 7
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Scheme S1. Proposed mechanism for the quenching of LOOe* by antioxidant 9 in the

presence of aqueous co-antioxidants.
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